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Instructions: Answer choice “E. NOTA” means “None of the Above”.
For question 1 and 2, use the following information:
Consider the following sequence:
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 where the “…” notates the continuation of this pattern infinitely. 

1. Kevin is trying to find the two values of 
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 which make the sequence listed above geometric. If we notate those two values as 
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 and 
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 respectively, where 
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, what is the numerical value of 
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q

? 
A. 0

B. -25

C. -10

D. 10

E. NOTA

2. Nathan is teaching Kevin Algebra II. Nathan is teaching Kevin about infinite summations of sequences. If 
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, using the same 
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 values as in the previous problem, what is the sum of the infinite series when 
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A. -8

B. -14

C. -16

D. 8

E. NOTA
3. If 
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, find all of the asymptotes of 
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A. 
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B. 
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C. 
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D.
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E. NOTA
4. When 
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 is divided by 
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A. -15
B. -27

C. -32

D. -25

E. NOTA

5. 
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. 
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. Find 
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A. 5
B. 9

C. 12

D. 15

E. NOTA

6. For two values of 
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, the equation
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has two equal roots. If we call these two values of 
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 and 
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[image: image26.wmf]AM

<

. What is 
[image: image27.wmf]?

MA

-


A. 0
B. 1

C. 3

D. 8

E. NOTA
7.  Given: 
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A. 12
B. 8 

C. 4

D. 
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E. NOTA
8. Find the area of the region enclosed by 
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A. 
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B. 
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C. 
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D. 
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E. NOTA

9. Suppose we call 
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 the matrix function. For all real numbers greater than zero, 
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 is defined as such:
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Pamela and Diego decide to play a game. A random value of 
[image: image41.wmf]x

 is chosen to use for 
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Mx

. Let’s call 
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 the inverse matrix function. In this game, Diego wins 3 points if the sum of the entries of  
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 is an integer. Pamela wins 9 points if the sum of the entries of 
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 is not an integer. If the possible choices of  
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 values are 
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 where 
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 is an integer, and if the game is played 10 times, what is the positive difference of Diego’s and Pamela’s point value?
A. 10
B. 30

C. 40

D. 50

E. NOTA
10. If 
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     A. 1

B. 3 

C. 4

D. 8

E. NOTA

11. A family of functions is given by:
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, where 
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. Kevin is playing a game where he chooses a number 
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 at random. If the number 
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 Kevin chooses makes 
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 cross the 
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axis, Kevin gets 20 dollars, otherwise, he loses 10 dollars. How many times should Kevin play to expect to win 100 dollars overall?
A. 15
B. 20
C. 40
D. 50
E. NOTA

12. Let 
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. Let 
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. Find 
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     A. -32
     B. -64

     C. 
[image: image62.wmf]32

i


     D. 
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     E. NOTA

13. Let’s say we have a system of two linear equations ,  
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.  If the system is linearly dependent, find the value of 
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.
A. 2
B. 3

C. 4

D. 6

E. NOTA

14. The Fahrenheit function is modeled as:  
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. The Celsius function is modeled as: 
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. For what numerical value are Fahrenheit and Celsius the same?
A. -20
B. -10
C. 0
D. 10
E. NOTA

15. If 
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 are relatively prime, find 
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A. -1
B. 0

C. 1

D. 2

E. NOTA

Questions 16-19 are based on the following information: 
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16. Find the domain of 
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     E. NOTA

17. What is the domain of 
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?
A. 
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B. 
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C. 
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[image: image84.wmf](.5,)

¥


E. NOTA
18. Find the domain of 
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A. 
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B. 
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C. 
[image: image88.wmf](0,1)


D. 
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E. NOTA
19. Compute 
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A. 
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B. 
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C. 
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E. NOTA
20. Find the constant term of the function  
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      A. 84
B. 1588
C. 729

D. 2268

E. NOTA

21. If 
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 are positive whole numbers. Find 
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A. 2248

B. 11227

C. 1602
D. 1,440          E. NOTA
22. If 
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A. 3
B. 
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C. 
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D. 
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E. NOTA
23. If 
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B. 
[image: image111.wmf]xe

=


C. 
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E. NOTA
24. Let 
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A. 1225
B. 1275
C. 1458
D. 1725
E. NOTA
25. If 
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, what is (are) the solution(s) for 
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A. 2
B. 4

C. 
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D. 
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E. NOTA
26. Find the sum of the coefficients of the expansion of the function:  
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A. 1
B. -1

C. 262144

D.-262144
E. NOTA
27. Let 
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A. -2
B. 0

C. 10

D. 14

E. NOTA
For questions 28 and 29, 
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28. If 
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A. 0

B. 1

C. 3

D. 5

E. NOTA
29.  The graph of 
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 is translated 3 units in the positive 
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-direction and 5 units in the positive 
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 direction to make a new function, 
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A. 9

B. 20 

C. 15

D. 30

E. NOTA
30. At what value(s) of 
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 does the graph of 
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 cross its horizontal asymptote?
A. 
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B. 
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E. NOTA
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